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Note :— This paper contains fifty (50). multiple-choice questlons, each questlonl

carrymg two (2) marks. Attempt all the questions.

B R} AW 54 YO GigRselly sl 8. el A QA B, oy o ESIET]

1.

FAU ALY, .
‘The new industrial policy was introduced in In&ia by the Government in :
(A) 1981 -(B) 1991
(C) - 1998 D) 1951

MU AIR 4L Al ey AR AN weuda aslui give s
2udl, : o \

(A) el - (B) e

©) e ‘ | O ey

The second Five Year Plan in India was based on which of the following
model ?

(A) B. S. Minhas Model (B) Gandhian Model
(C) Mahalnobis Model =~ (D) None of these

1A sulde su Wida w2 oflw yualy Yo 28Rd sdl ?
@A) ol A, B Hide (B) -dUlu Wda

(C) uetariofls Hida D) il s AR

The Government of India’ have initiated the process of disinvestment in. respect
of public sector units under the. pohcy of :

(A) Nationalisation -(B) anatisatien |

(C) Globalisation - (D) None of these

Gl AWLRAL A& &L asm wlrﬂ Rud-Aeidve R0 wBurl AFild
(A A dsa af edl :

@A) UNsW | ®) i»ttvto,ﬂs QL
(© dxflsry @) Anidl Asyg AR
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Which of the following Committees has recognised the potential for the
operation of Merchant Banks in the framework of deregulated industrial
économy ? , |

(A) Rangarsjan Committee = (B) Tandon Committee

(C) Lakadawala Committee . (D) Narasimham Committee

AFEBL 20elBls velda siumi wiwe Q&-u Al a{qem& Al 5§
AR Wyl 2ude §

@ o wRR @) ésv amR

©) aussiua AR | @ -wrBiew AR |
SEBI has introduced. various guidelines as regulatory measures regarding :
(A) Capital iséues (B) Currency issues

(C) Credit control - (D) Price control ‘

Aoflat Al susrasi $8 Rams waizii-l Aeelui @Ry wolsBlsipil civia
s34 6

A) Y48l el uisal z»iol : (B) AR 6l8I WSq

(C) Wyt »igy @) [Bud iz |

Depreciation Fund of a firm :;t the time of admi_séion of a partner is transferred
to : | ' | |

(A) Profit/Loss Adjustment A/c |

(B) Capital accounts of existing partners

(C) Capital accounts of all partners

(D) None of the above

ouollelz-l naR WA B ol LAl WA 4 Fami WA B ¢
(A) «sUgsuA salEl vig |
B) eldit euelletiqit 3 v

(© war % ewdlleliq ygl wid

©) GuRUsa Auuidl 2sve R
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When a holdilig company has sold goods to its subsidiary company and if
~goods remain in stock:in the books of the sub51d1ary company, then proﬁt
on the same is known as : |
(A) Unearned/unrealised profit (B) Net profit

(C) Capital prbﬁt (D) Operating profit

wWs Su-AD olal Su-lA e A= iu 1A auiell 2uvi RisHi e zau L]
ard oler sudln @isui wuda st 0a Yool sl owguY

A) Bt suda/Bia- Ass sl

(B) Alvull 51

(C) 38l sl

@) s8] sl | |

In regard to a managerial problem involving key factor, the rjost relevant
guiding information will be : |

(A) Total expected contribution

(B) Profitability . ~ S

(C) Contribution per unit of key factor

(D)  Excess of contribution over fixed cost

gul Alzu WRen Asudd Sid ddl JWasly usqq s sl cm& ma[sais
doifd HRA A 3ol owuy :

@) A ga stoudl s

(B) -8l51R5dl |

©) wdl 34 wWRem- e3s AsiRs sl

@) Al wdl agy 2Adl swoudl

The unclaimed dividend is shown on the liability side of the Balance Sheet
of a company under the heading :

(A) Reserves and surplus (B) Provisions

(C) Current liabilities - (D) Miscellaneous items

guelle wst 33w AR Houada RRs-s 2ai cuyg saladl qua {13 mt&a
Rrels gsa AAla awy - - |

(A) UMd dul 4l "B Aol

©) Ay 2al D) MIYRDL ousdl
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. 10.

If the annual sales amount to Rs. 10,000 (volume 5,000 units), variable cost

- amounts to Rs. 3,000 and fixed cost amount to Rs 5,600, then the margin

of safety in units will be :
(A) 1,500 (B) 1,000

- (© 2,500 | ®) 2,000

11.

12.

URls @ 31 10,000 (4,000 As), AR Wl 31, 3,000 w1 2well W
3 4,500 ¢, U Al \Ful werndld oudl A yoro, o ;-
(A) 1,400 ’ B) 1,000

(© 2,400 @ 2,000

A perfectly competltlve firm can demde :

" (A) Only price of its product

(B) Only quantity of its product

(C) Both price and quantity of its product

(D) All of the above

iyel e[‘zmﬁgm Wl (A ouod 3 [ely 32‘1 3 :
A) Mt Al argrll o Bad

B) ot d-l axg-il wel

(© a-l axgll oo Bud i argell el 6{-&

D) GU yroell oigioy

Total revenue of a monopoly firm will be maximum when its marginal revenue

- will be : |

(A) Zero , (B) Positive.

(C) Negative @) All of these

‘,simztgsa WL ga vas Mot oS 3 FuI -l Alic 2nas Y Yool
el |

@ g - (B) sslUSHS

©) -sRUcty D) 2ual ey
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13.

© 14,

15.

16.

Price elasticity is defined as : *
(A) Change in quantity to change in price

(B) Average quantity to average price

© Proportionate change in quantity to proportlonate change in price
(D) All of the above

Bud AdadL Aed : »

A) [Budui 23a §3s1-0 20l wenmi %Qw.

B) AN Budui 234 335137 20l 3w i ada s

© [Bucdil add uHIRRR 3513 2 e 2dd wuaA 3812

@) GUAs olul ¥

The output level where a monopolyﬁrm earns only normal proﬁt will be :.

(A) Egqual to optimum level (B) Less than optimum level

(C) Above optlmum level (D) All of these

SAUYSA WA ¥ ozl ssu WA 451 sudl Sid  sa A RS Sy 8 :
(A) Sredy ol s B) Seeau weeu-l seuell iiesl oreul
(C) Svedn el ay oseal @) uleunidfl ud

The demand for electricity is a :

(A) Joint demand

(B) - Composite demand

(C) Both joint and composite demand
(D) None of the above

loell-ll wior 1A yoworll oy :

(A) RAYsd HidL |

(B) auL[Es HidL

(C) o AYsd dar wyRs widt

D) Gulsauidl Asug R

. A sampling technique in which each and every 1tem of a populatlon stands

equal chance of being selected for a sample, is known as :

" (A) Snowball sampling -

(B) Stratified sampling

(C) Simple random sampling-

(D) Cluster sampling

quididl €35 oiuan Pl&%f"l W2 wRie aalll A ds Fui ANS B, adl [eiq

yglan. fﬂvl yorol Aolaaii wd & :

(A) +iotied Redd ygla

B) Ao(lgd [Aesdd ugla

(C) el 2usa{ls (random) Fl&%["l ygla
O) % Red- na[a
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17.

18.

A distribution in which Mean, Median and Mode, all are egu‘al is known as :

(A) Skewed distribution ®B) Asymmetrical distribution
(C) Normal distribution (D) None of these ‘
Al Qd weld 3 Fui neus, Ny A OlEAS GLEL UM S B :

@A) [y [ (B) ¥ (Asymmetrical) [Qcmt
©) Ay [Qda : D) alma[l sldue -
Statements : | |

(@ Coefficient of correlation. is independent of scale but not of origin.
I . Regreésion coefficients are independent of both origin and scale.
Which of the following alternatives is correct ? |
(A) Both are true
(B) Both are false
(C) 1 is false and II is true
(D) I is true and 1II is false
[Qat-l : -
(1) aaioiais A wuell Ada & A AR 3 3 @zl
(1) Rudrisigis A 3uy 290 30 [3d oLl dda 8.
A2 »ule Rseuinidfl uou [Asey sul ?
A) o Wl 8
B) o= viiel 8
(C) usg vig 1 ol Wy &
D) udd w3 2 oflg bu@ 3]
To test the significance of Coefficient of Association between two attnbutes,
which of the following tests is used ? :
(A) F-test (B) Chi -square test -
(C) Z-test ‘ D) Kruskal Wallis test
& eyl a2~ weeastt Asviag yeuisn s 0 gudanifl 58 sAAA (3‘{'-ll°l
WY W ,
@A) As-5A B s8R s
(€) Ps-50d O gusa-Adin KA
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20.

21.

22.

23.

Commerce—II | ‘9 ' P.T.O.

Who popularised the PC system ?

&) IBM (B) Infosys

(C) Compaq < @) MIT

YL, wgla s nadld s ? | |

A) us.ofl. A, S B) Srisiflu ‘
©) £irds @ A4,
“Management by ebjectives (MBO) term was propounded ,by o
(A) Peter F. Drucker B Ff W. Taylor

(C) Henry Fayol " () Elton Mayo
Géauc;w- dadnH v 12 calda 59 ABdA uAweld sal :
@) ez As. g52 (B Ns.suey. 24

© 39 3da D) RAdert Al

Span of control means :

(A) Maximum number of subordinates to be supervised

(B) Maxifnum number of supervisors in an organisation

(C) Management control system

(D) Decentralisation

vigy sidaat ed ;- o

@A) Al e dsa Heny Avani s sdi sfalvilg Rlaa
B) AR Rdasidl Ao

(O) dwas iz ygld

@) [@Fdsw | |

Hawthorne experiments were conducted by :

(A) Elton Mayo - (B) William Quchie

(©) F. W. Taylor | (D) Marry Porker Follett
Sluld 3ol A oRude AUld gL @Y QRN e edi
(A) e+ Ayl | @) [Qdlun syl

(C) wg.soiey. 2aR | M) A Wi side



24.

25.

26.

217.

Theory Z is an explanation of :
(A) Motivational process
(B) American style of management

(C) Assumptions about Japanese Organisational set up

(D) Indian st;ylef of» management

sl Rigiarll anogla Aed :

) Gawd wBaw

@) Awadd AR5 uglR

© cau-lly araidai-l s A el
@) cudla A wgl

_ Fiedler’s Contingency Model explains :

(A) Leadership styles
(C) Communication styles

(B) Motivational process
(D) Decision-making styles
(srarld wAdtUA (Contingency) Hidd ¥xAd & :

@A) bR wgla (B Gdw uBu

© Wdldl Al ugl @) Geldsad ugld
The focus of traditional concépt of marketing is on :

(A) Customer satisfaction - B) Sales volume

(C) Customer relationship D) No loss no proﬁt

WEEDL wsuellstod v QA oodl w2 usia 33 8

(A) sl Adin (B) A el

(©) suss RUoial @ AR gl R 4520
- Which one of the followmg is not an attnbute of service ? |
(A) Intangibility o (B) Inseparability

(C) Heterogeneity (D) Homogeneity

A oudanidfl 5§ opoid Al el wgdl ol ?

@) g B) Bixiaodiagl

© Rodlud o ®) uQudl
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28.

30.

31.

When a single name is used for branding a product, it is known as :

(A) Umbrella branding (B) International branding

©) Single branding 1))} Natiorial branding

S8R Gewed oue€loy s2an wud aNs UH ANAHL 209 R A (A yore
siauuy @ : : |

(A) 95 aursloy (B Bid AU wi-gloy

© Riae sueglo D) U ou-Slo

For finding out the disguised reasons for buying a produét, the group of
techniques, used is known as :

(A) Statistical techniques , (B). Marketing techniques

(C) Projective techniques - (D) Forecasting techniques

Getentll WlEl s 2 oeuasiz A s12el el szl GuEla dadl ygla

A Yool Aiquuy @ : o |
A) Aissisly ugliail B I yglaxil
(O Hsey A ygRail - O valgu wglai

. Non-personal stimulation of demand for a product or service, by planting in -

a published medium or obtaining any other favourable presentation that is

not paid for by the sponsor is called :

(A) Advertising = '(B) Marketing

(C) ‘Publicity , D) Selling |
Geltet viaar Aaifl #ioR) Bt o G yal, usidlla ey gl AQ)
Guasy sl HadL Ay SIS Yo AFEN WPUA 3 I+, iR gral ysaell udl
“dl, A {3 Yorol Aol 2ud B : S -

A) [Asnus o B) Wl

© uaR @) A

Which of the following' lies beyond the scope of Finance Function ?-
(A) Capital structure decisions ®) Sal_es decisio’ns.

(C) Investment decisions 1)) Dividend: decisions

2 wdd 5§ cuoid wal s seldol Gy B ?

A) 38l wavy 34 ey ® Aua el

(©) AUs [Felyd | D) Rdls-s Mslul
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32.

33.

34.

35.

(© ueulasid 2l

The impact of a given percentage change in EBIT on the percentage change
in EPS is measured by one of the following :

(B) Super leverage

(D) None of these

(A) Operating leverage
(C) Financial leverage

S.oflaud. . (EBLT) Hi 251l ddi 338121 2R $.0. 9. ( EP.S)

wi adi estaui 2s0dl QA4 A5 As ugla ad wvaril 2ud 8 ¢

@A) sdsd dlay (B) A% clax

() -wuslu dlai ®) uxidl sisum AR

By changing the relative proportions of debt capital and owned capital in
the capital structure of a firm, the cost of capital can be changed. This view
was supported by : ' ) ‘ o

(A) Net Income Approach (B) Net Operating Income Approach
(C) Traditional Approach - (D) Modigliani-Miller Approach
AL 38l vl 2l Y8l A, Wil ylul qeild il §812 $30A
YOl USARME 32813 531 usiu B . i daeard Rwad QA sa e
sl 2dd 8 ¢ |
@A) Afl vras-dl slion @) Avul sIds sl wldn
@) “HslBielul-Bar A,
Which of the following objective is false for holding cash ?

A :Transaction motive (B) Precautionany motive
(C) Speculative motive (D) None of these

Ass @ sl A Grubiil syl GRu Ay & 7

A) HaslR Gau-t B) wadAdl Gdw-t

(C) ugslu G+t @ umiell sidum R

Who has pleaded that dividend policy of a firm is irrelevant as it does not

affect the wealth of shareholders ? - »
(A) James E. Walter | B 'Myljon Gordon

(C) Modigliani-Miller D) None of these

RRs-s Ad 3 AelesAr) Pasdl 2 s3dl Adial Q A W2 vkisiRd.
8 Adl Rud S9 s34 @ ? N

@ .S, dieer (B) *HRIA SURSH

(©) sistollaw-l-Hlar @) 2uxidl sidue <R
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36. The essence of lhuman relations -is :

. (A) ‘To emphasize economic needs of employeeé
(B) To emphasme social needs of employees
(C) To emphasize production techmques

(D). To emphasize welfare activities of employees

M Aol W A D 3 |
@) sluaid wulls ¥3RAUAN Hew 2ung
®) sl arulys o3RUdA Heet 20ug
© Gewget 2slled Hec wiug

M) st senas]l ugRsia Hecd g

37. - Which of the following is an example of social assistance ?

(A) Disablement benefit (B) Sickness benefit
(C) Education benefit (D) Maternity benefit
Al 55 ouod DS HEET Elvidl dls Aal wa & ?
(A) oL Qi B uiedAl et

C () AaRs e O MR ae

38. Indian Labour Conference was set up in :

@A) 1919 (B) 1920
(©) 1939 D) 1942
eUcdle HYR siws-Au syl adlui @S odl ?
@) wie o (B) 1¢R0
(€C) e3¢ D) e

39 TBe operative functions of Human Resource Managﬁment mcludes :

(A) Procurement and development (B) Compensatlon and mtegratlon

© Mamtenance - (D) .All of these

WA AL AL wHellsRL w{’(%ﬁ AL Wy B ¢

@ wndl 2 Qs (B) AAdR A Yol
(C) unasll ~ (D) el olaiy
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40. The best method to send an employee fqr ‘a training programme is :

(A) As per the recomm-endatidn of the superviébr' |

.(B) As per the request of the employee union

(C) By assessing whether the needs of the employee meet the programme
(D) At the discfetion of the management

sulA dieln w2 disaa Wi w wgla & @

@) RAas0 elamel v ‘

® sl dad elama e |

(© WA 3RAA Yol sidsiedl yeuisa sual

O Awdndl yqusl 4 2wl

41. The main function of a bank is :

(A) Mobilisation of deposits

(B) Providing loans and advances

(C) Providing remittance facilities
(D) Deposit mobilisapion and advancing loans

Sse you s1d A Yoo @ :

(A) wvar AR

(B) did v Ruw y3 wsqg

(© w823+ wdas Y3 wedl
() wweld w2 R

/

42. The lender of the last resort in the monetary system is :

. (A) State Bank of India (B) Reserve Bank of India
(C) State booperative Bank (D) Commercial Bank
bl uglanl il Asias ad AL oguda s s S ¢
(A w2 s s SR - ® Rad ds s SRy
©) R sivIuAa ds O wRells ds
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43.

44.

45.

46.

Important suggestions regarding restructuring of banking system in India
were given by : :

(A) Vaghul Committee (B) Chakravarty Committee

(C) Narasimham Committee (D) Tandon Committee

Aol Hs ARARN A5l ugRAi Yl warnudly 328131 s34 29 Hgcasti
Jarl s3q 6§ :

@) wga alidl - ® asadl ARl
(C) Risu ™) | D) és+ AR

A special financ1a1 institution to cater to the financial needs of small scale
sector, recently established is known as :

(A) SFCs (B) IDBI
(C) SIDBI (D) NABARD

ag &oteil Gelloli-l weudly %’Q[\QZ{ML Al ¥ QR Asudly el gy
WAL 9 Al A oo, inuy & -

A) NuNsAls (SFCs) B) 2udslellus IDBI)
(©) puUSslollausS (SIDBI) (D) isus (NABARD)

To attract small investors and to provide them diversified investment
opportunity is the main function of :

(A) SFC o (B) UTI
(C) LIC @) IFCI
“irl ASBSLAA umicu A Ay ARyl s dsl 12'1 wsdl rﬂﬂ-wueﬂ

Asd Hecdd s B

(A) s (SFC.) B - 32 (UTDH

(©) a- i Ra (LIC) D) 2wSAsA2uS IFCI)

Which one of the following is the most well known theory governing
International Trade ?

(A) Beggar my neighbour theory (B) Absolute cost theory

(C) Comparative cost theory. "(D) Theory of managed trade
Hid AU AuY aodl 04 aeuda RATL Al ag Alldl &

A) R WA Qe Rl (B) ¥orilge sie My
(C) darls usax [Ryz) M) [Bu 2is Ay s
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417.

48.

49.

50.

The following institution is known as the Bretton-Wood’s Twins :
(A) UNCTAD and ILO

(B) WTO and World Bank

(C) IBRD and MNC

(D) IMF and IBRD

QA Ns A “‘Aadgs AL’ AR aF Ay © ¢

A) 3. o dLA.A S wA 2. A2l

B) so1ey. 2.2, A [Qza ds

(©) 602U .6l A A3 AL

@ 2us.2An.Ag. L 2ud.elau.sl

The principal function of WTO is :

(A) To stabilize the International monetary system

(B) To promote rehabilitation and development of member countries
(C) To promote multi-lateral trading system free from all barriers
(D) To promote socio-cultural development of member countries
soley. Al o Yo sid & ¢

(A) iddl A uglan Ra wwd

B) ey il yrtRenuqAl dul Qs el sl

©) ASuR »aa R Rsad ¢13s el 92 Az Rsd adl swbil

@) e Al ABUWSs ARERAs Qs 2d A 20l subL
The major foreign exchange earner for India is :

(A) Gems and jewellery (B) Iron ore .

(C). Textiles and garments (D) Engineering goods
oxd W2 Al ay Ruma s Audl axg QA

(A) AR A wdal ' B) sy dlvis

(C) 5luS dal dulR susi D) $% oi-uadl

The most important country/countries as India’s trading partner is/are :

A) CIS . (B) USA

(C) EU (D) dJapan

dl W2 didndle dui-i ;fiae{%i Al oL syt vled :
@A) Al.2ud.2An. (B) y.AA.A.

(©) yluun ylus D) Au-
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